[/u/y(/(,‘u&@mw} Omw»mw%qw Y U L téut un A0 J4 kAoLeq

‘{f /‘2400/{04» Auvisa,
H H"Q’“u H (1/‘(3
A B TR |
H_C'C'(‘:—Q“C—"“ C/ﬂ%ww—W'&t(-CM'S
\ [ \ ) \ (
H C/ B M C"/"- H w6 =
M~ Mo . b Chs, D
™ W
4c) Qowe Peceruee
M(L’MV\O«§ Al va LMy O ts KMth s /‘7;\0 +0 LT
z V. Ny o2 i s
\/(0;_,) g,ﬁ’*lq. ‘;\7;' /'\)‘ % , W ’%*40}07

oy (icmo,g -7 .
\}(U f/‘ = 0,3 ois

VEMn0)= 257 <o p e

W(/CM 0}2 80”5.544("24(42,11
”‘(’”‘““O«)J*f 0,4 w,;

’)[KMW) \7/% 19) .f/# -0, § 20,2 it

W= 2 oo - 257, sy
0(52» 3% 7.
[). -Deiw YBM) o
Mo (HelbM),) = 1741 : ut
o (B = Susges| PBoloM) 2 CO, - Ratd,v o J O
, e
View)-7 e 2E et )z vh

g (W}D = 174.00¢ 2 45S A

W(&‘M>: ('$¥+4;-,L+J-';{3’f L/M"‘
\HP"”@”’U“ ; 2 p,0f woid

gl BB ) % V/W)> 0,05 wrdit
\/(6057 \) \/an\O,O?-il,V 2 4, 124,

Qvfé(y: 7, 424,




